GS/1G/101

Part A

General Mental Ability, Administrative and
Psychological Abilities

The calendar for the year 2009 will be the
same for the yvear :

D 2014
(2) 2013
(3) 2012
(4) 2016

What can be the maximum sum of Saturdays
and Sundays in a normal year ?

(1) 104
2 105
(3) 106
(4) 107

If in a particular non-leap year, the month of

June had 5 Mondays, then that year must
have started with which one of the following

days ?
(1) Thursday or Friday
(2) Friday or Wednesday
(3) Tharsday or Saturday
4] None of the above
How many pairs of positive integers m, n
satisfy the following equation :
Lale B
m n 12
where n is an odd integer less than 60 ?
(1) 3
(2)
(3)
(4)

If x = — 0.5, then which of the following hag
the smallest value ?

6
4
7

2]/x

1

X

(1)
(2)

1
3 i
@

(4) 2%

(4)

a0 A

255 ot DO, @20 NE3S Bk

2¥er3¥S 2DO8H

2009 5058 HOVOHODS SIBOLE
& D055 Yo"RE 2.8 DO &Ooenod :

(1) 2014

(2) 2013

(3) 2012

(4) 2016

O DSBS G0
SOOI 0 IO DO ?
(1) 104

(2) 105

(3) 106

4) 107

A8 OHIDHSE HoSS 80, 275 Tos
5 FIHITT 0B, @  HosS)do
SDINVO 808 3BS’ O Fars 2805
GOE® 7 :

(1) hdrdo Bor Higrso

2)  BDETdo B endardo

@) Hhardo B 5180

4) DIDsy

03:0; B0 STEE rTrosey m, n 508
SR Q0 AN SR O -
1 4 1

— -
_— i e—

m n 192
A5G n ©T 60 $0E S0y 352, ypgoso?
(1) 3
2) 6
8) 4
(4) 7

X==05 ©ons, 808 a3t O D)
QNS EOR GOLNOA ?
(1) ol

2) 1

X

30 ook

1
(3) ~

X

(4) ox
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6.

Two liquids A and B are in the ratio 5 - 1 in
container 1 and 1 : 3 in container 2. In what
ratio should the contents of the two containers
be mixed so as to obtain a mixture of A and B
intheratio2:17?

(1) 2:3
(2) 4:3
(3) 3:2
(4) 5:2

There are 6 members A, B,C, D, E and Fin a
family who are spread across 3 generations.
There are fwo couples in the family and no one
from the third generation is married. E is the
wife of C. F and B are a couple and the only
people belonging to their generation, There
are 4 male members in the family.

Which of the following must be true ?

(31 D is the grandson of A.
(2) A and E belong to the same generation.

(3) “There is no female in the third

generation.

(4) E is the father of F.

Let N be the greatest pumber that will divide
6360, 7420 and 9540, leaving the same

s e Ao each case: Then the sum of the

digits of N is :
)
(2) 5
(3) 6
(4) 8

(5)

7.

A 50050 B @& 8o (Saren SodE 1 6
5:1 SO0 Zowdh 2 & 1:3 DHBS
Gotrow, 2:1 ANBS A HBckw B
DFSrR), oBochsy Both LoLdBes'
E0ONOd 2 AN IBS’ Eord ?

(1) 2:3
(2) 4:3
(3) 3:2
(4) 5:2

Sreh Sored’ INB0D &) Henonod
6 0O d2veN A, B, C, D, E H8ckw F
&m0, Hotno0eS BB Boten trary &
DO Srdhs S80 NOG DIEF JTTO
BOEBX. C, E dBEerd:. F 6oy B
208 DO 8 STV TodS 38
SgSen. Htwonod 4 Hod Hew
o) Q.

508 78S DB dz0 ?

(1) DoITO A TBOS) NS,

(2) A0 E 28 So°08 TodS.
(3)  Sarcssd S0 1N B,

(4) E, F 3Bws) Sold.

6360, 7420 SO 95100 zrAoT FH:
oS N oo  SoAdNge8, 1D
HOGS oS B DD S0, vk N
S0 wose Fndo :

(1) 7
(2) b6
(3) 6
4) 8
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11,
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9.  What is the number of triangles in the figure

given below ?

(1)
(2)
(3)
(4)

15
14
16

The circumference of the front wheel of a cart
is 30 feet and that of the back wheel is 36 feet,
What is the distance travelled by the cart,
when the front wheel has done five more

revolutions than the rear wheel ?

(1) 850 feet
(2) 800 feet
(3) 720 feet
(4) 900 feet

Ramesh wants 1o plant 372 tomato plants,
558 chill plants and 1116 onion plants in
“Qual rowg, Also, he wants to make distinet
rows of each plant, i.e. every row should have

only one king of plant. What are the minimum
nUmMber of rowg that 4

1) 8
2) 11
(3) 14
(4) 1g

re required 7

(6)

B
D. 180 235068 DSoS | Bahere Dog

20es 7

)

L 13

2 15

(3) 14

4) 16

10, 208 S0 S[E0 HEYFOS 30 e
DB I B1E0 36 w&en. SVocks
Do InE Bido 0B & D802
PDETren TSI, 208 (HSSrSodS

QS0 0e ?

(1) 850 evchoidex
(2) 800 eocdde
(3) 720 ®cHeN
(4) 900 eihen

11, &3DR 372 QOSrer AEren, 558 B

Bwren, 1116 & I en J8rd SHas
TEreORTYD. BT, @S85 |HD Jng,
BE,  WDS) DI S -
BASreDHE0ENT°) K. OB, (HS SBHSt
28 SRS I 0T, WIIEDS
@) SEHO EHD HOBS DES ?

(1) 8

(2) 11
(3) 14
(4) 16
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12.

13.

14.

The total number of integers between 400 and
600, each of which, either begins with 5 or

ends with 5 but not both, is

(1) 10

(2) 100
(3) 110
(4) 120

A shopkeeper is selling his goods at 40%
discount, but is still able to make 20% profit
on the list price. By what percentage does he

mark up his goods ?

(1) 60%
(2) 40%
(3) 80%
(4) 100%

Anand and Rishi are the two biggest 14

competitors of chess. The probability of Rishi
losing a game against Anand is 76%. What is
the probability that Anand loses at least one
out of the four games played between them ?

81

(1)
2566

(2)

(3)

Ll L

~
O

12,

|

(4)

)
L)
(=}

400 SDOC 600 WD Gy e
Frgroste Jops, BS' (DB 2,80 5
|D°5025:50:9¢508 BEe 58 Swthivod w8

Bocsr 5°CY,

(1) 10

(2) 100
(3 110
(4) 120

13, 28 OSROrHE S5 SHo  40%

SHoHS D FonDT) R, OV 253e38
20% ersfo Srodfeld. e SN

330G dods TS0’ 58y TR ?
(1) 60% '

(2) 40%
(3) 80%
(4) 100%

G505 HOcky 8h TS =D DG
DeSorthen. 85088 BOAS JrgeSeS’ 62
2LB9CH esSsHo 75%. 8 s wAS
Trenth Ao’ @508 $A00 2.5aDS Toe
2,AED HozISsS ded ?

81

(1} ==
266
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15. A tank has eight pipes, some of which fill the
tank and the rest empty the tank. Each inlet
pipe fills the tank in 8 hours while each outlet
pipe emphies it in 6 hours. If all the pipes are
kept open when the tank is full, it takes
6 hours to drain the tank. How many pipes are
inlet pipes 7
(1) Two

(2) Three
(3)

(4)

Four
Five
16. Ajeet and Sujeet go for shopping in a mall.
They use an escalator to move between
various floors. The escalator moves at a
constant speed. Ajeet takes mine steps for
every five of Sujeet’s steps. Ajeet takes
30 steps to reach the top of the escalator,
while Sujeet takes 20 steps to reach the top. If
the escalator was turned off, how many steps
would they have to take to walk up ?

(1) 40 steps

(2) 50 steps

(3) 60 steps .
(4) 80 eteps

17. A beats B by 15 seconds in a 200 m race,\B
beats C by 25 seconds in a 500 m race, C heats
D by 32 seconds in an 800 m race and D beats

E by 35 geconds in 0 1 ki race. What mugt be

the speed of A in order o beat | by 800 m in a
2 Xm race ?

(1)

(2)
(3)
(4)

2:6 m/s

338 m/s
R
6-86 m/s

(8)

15.

16.

17.

a8 ¢rjosS IO BHen  GoLrow,
TES ) X0 JojEon $HBow
WAOXD  ergosd ar? Trow. a8
ATBE 2D Erjos 8 KoY VoS08,
2.%) ©HBBE Y 6 K0S o) oY
TN0O. 37508 VoGS I ®R) NIOND
SO0 BoOSLONS, ¢rios ar? (Fond)
ToHhmAE 6 Hoten DHA0d. BT
YED DR, D)0 ?

(1) Bodw
(2) o7
(3) et
(4) 2D

i OO ES 28 rSS IDoh

Sohadd I, T NG HOSW

&5 EBOERE ANBRE GHTrATD.

A BLE VDS JMod  Ecvenhod.

MBS ID (DS 0D chibhos o2s Sad

whey ST, ©f8 S0 S

HFHESEAE 30 wdibden I, wad

53258 D8 DHOESEIS 20 eiorben S

AHTRE @D TS, o8 8

$ % SEO8 D) echiben I05rd ?

(1) 40 @HdeD

(2) 50 echoiden

(8) 60 evcddrben

(4) 80 exciden e
v A, 158 N8 BQ,

R e s 95 2ERS €A, 800 m

.1 km 38" D,

B 800 Hhed S
%50 Jo sord ?
(1) 26 /R

(2) 333 /D

(8) 65/

(4) 666D/
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18.

18.

20.

5 persons will live in a tent. If each person
requires 16 m? of floor area and 100 m? space
for air, then the height of the cone of smallest

size to accommodate these persons would be

(1) 1875m

(2) 16m

(3) 10-25m

(4) None of the above

A5 x5 x 5 cube is formedusinglxl.xl

cubes. If we add another layer of such 1x1x1

cubes in the 5 x 5 x 5 cube, then what will be

the number of 1 x 1 x 1 cubes in the newly

formed cube ?

(1) 216
(2) 150
(3) 175
(4) 264

\ine contains one-rupee,

A e-making macl
chang coins. The total

five-rupec

’ and .
two-rupee The amount 18 ¥ 960.

number of coins i8 300

ne-
If the number of ©
are interchangt

rupee coins and

d, the value

- ] s
two-rupee comn | number of

ola
comes down by ¥ o ok §

five-rupee coins 1%

(1) 100
(2) 140
(3) 60

(4) 150

(9)

18.

19.

20.

2,8 G0 5 D06 DSV, 1HB 5388
16 52 6 DB0ST HBM 100 ? md §o
Do @SOS, & Do I
403058 ©B DSy HBIrR0S &d)
ES D) 0o ?

(1) 18750
(2) 165

(3) 10:25 0
(4) DI S

1 x1x13r500 SIrAo) 5 x 5 x 5
§0425 BIHSI0D. 2SO0 5 x 5 x 5 eSS
@tNS083 1 x 1 x 1 Hare Bwsy O3

8 SERQ, @) FSm 8BS §rgl 5}

1x1x 10070 VORS 0 ?
(1) 216
(2) 150
(3) 175
(4) 264

HOS BR oWood a8 drdraw, Bod
SO DJA DA AQVE  JUEIEN
SOLraD. FNB0 DEL VoW 300. IS0
e 060, 28 Qroran B Hdaky Bodk
Haobhe EO Q0DIOD  JOd80
' 300D, Jewd ¢ N BYH0H. Indo

D0 QDAL DEHO Q0D
(1) 100

(2) 140

(3) 6O

(4) 1560
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21.

22.

P, Q, R and S are four statements. Relation

between these statements is as follows :
I. If P is true, then Q must be true.
II. IfQis true, then R must be true.

III. If S is true, then either Q is false or R is
false.

Which of the following must be true ?
(1) IfPis true, then S is false

(2) IfSisfalse, then Q must be true
(3) IfQis true, then P must be true

(4) IERis trie, then @ must betiue \

A decorative lamp has 2 brown, 3 green and
4 white bulbs, What is the probability of

lighting three bulbs such that at least one
bulb that glows is white 7

37
(1) Yo

23
(2) —
: 38

3) 35
A7

29
4y, =2
(4) 33

(10)

21.

22,

B

P, QR 000 S &9F &renth DS DoSe.

& REDoTer sy Howoko 180d dSorr
GO0 :

L P QAzRd, Q #5300 20 e
Gomd),

IL Q AzZRS, R 539587 Jzo ®wown
GOoTd),

L S Q2D&, Q $)) S R IO &H).

+ 808 8BS 6 D20 @on GoEd ?

(1) P2, S )
(2) S &H) wons, Q 338 dzo
@y QI2DS, P &8 dz0

(4) R I2DS, Q $3)8 dzo

2.8 ©eosd OD0 2 HdD, 3 BHDW)
SH8GID 4 BeRY VEVYOD DA Ssotnod.

(1)

(2)

(3)

(4)

37
42

23
38

45
a7

29
33
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23,

25.

In a college, 25% students play football. A
student who does not play football, plays

cricket. Every cricket player wears a cap.

Which of the following conclusions cannot be
made from the above data ?

I 25% of the students do not wear caps.
II. No cricketer plays football.

Select the correct answer using the code given
below :
(1) Ionly
(2)
(3)

(4)

II only
Both I and II
Neither I nor II

The total number of students in & class is 400.

The ratio of number of students who like Arts

s who like Seience 18 3 : 5. The

and the one
Science is more

number of students Who like
than the ones who like Arts by how much ?
140
100
180

16

(1)
(2)
(3)

(4)
English alphabets & % 7 are numbered with

the first 26 consecutive prime 1
~ 705, then what is

umbers.

If PQR = 519 and uvw

JKL equal to 7
(1) 915
(2) 129

(3) 291

(11)

26.

(4) 97

93, 2,8 $7TOS, 25% DOB Deridyey
20 D%

24,

[=]

e

wSHTYE. HEBS BGd dovs
Y o
ascherch. 108 1886 DOHE 555 éov;)gu

2y der od 506 T3S 9 oy
SoHeew ? ’
950 00 DEsBeN E'Hen BB,

C

I.
. (830 HEderS 8.

Ahs ad)s S& GHBTACD AT
HSFTRR), JocHEod :

[ S(eda

I S8

I SBos» I Bodr

I 52650, 11 5°C0

(1)
(2)
(3)
(4)

& SEEaS Bwdo dorsdhe dops 400
o BADTE  HOCH VIV D3
ese> Hows AN 8 : 5. SFON [ADB
8 0B S 2ANT IO NOVS

0eS ? '

(1) 140
(2) 100
(3) 180
(4) 16

wolf SPSreen A SHod Z S8 el
26 SO NS QoS B0 FOW.
PQR = 519 SHOAN UVW = 705 soona, JKL
@0t BI8 J°0 ?

(1) 915

(2) 129

(3) 291

4 97
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26. Pranav sold two books at the same price. On
one book he made a profit of 10% while on the
other, he incurred a loss of 10%.

In this case, which of the following statements
IS correct ?

(1)
(2)
(3)

He makes no profit or loss

He suffers a loss of 1%

He makes a profit of 1%

(4)  He suffers a loss of 2%

27, In the following question, select the number

which can replace the question mark (?) from
the given alternatives -

(1) 2197
(2) 243
(3) 2144
(4) 1231

28. Kranthi jg facing west,

She then lurns
45 degrees iy the clockwise direction and then

(12)

26,

27.

28,

. (4)

(4)

B8 Both  HITewy o3 C_Sdsn'
DENOTTE. 2.8 5E0S ewes Ly 10% exzio
FOeR, STV 10% Shdoire,

8 000808 808 e85 DS B ?
(1)

(2)
(3)
(4)

©$A8 ergio B V%0 &0

@S 1% PR BSPTy
©3D 1% o FotHEsy

OSW 2% 3T, ATV o

S00 (9H)E, H%) B M S &odihe

NODS /NI

(0S8 Aho
SONEOA

ol

(1)
(2)
3)

2197
343

2144
1231

1508 DS SVPOMT SOB, B DSBS
45 A|fien B0k ©F BIS H8 180 A(fien
G SO0 OH0IS 20 e
SrES$08, 2 B  BZNN S0d ?

(1) &8
(2) ool
(3)  HFD
sHhe
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29.

(13)

A watch loses 90 soconds in an hour and the

watch owner adjusts the time lost by the

watch in one day, a
how many days will the

correct time before the watch owner adjusts

the time 7

(1)
(2)
(3)
(4)

30.

80 days
40 days
60 days

t the end of 48 hours, After
wateh show the

None of the above

The figure below shows the opened-up version

of a cube with dots on each face :

Which of these C

ubes (I and ID show the

correct position of the dots ?

Select the correc

¢ ansWer using the code given

below :

(1) TIonly

(2) Ilonly

(3) Bothl and 1
(4) Neither I z

29,

30.

2 S AoedT 90 PEIK TS Mon
2005 T GHzATR 48 foted Snfons
o8 S a5 FOhomd  Dairan,
H02ren DA, S GRBATR) HHOITR,
HBeren TDOHEFS S0t AN) Tz
S0 56d 3703 OO DB OSTR), LTyl ?

(1) 80 &zrex
(2) 40 e
(3) 60 8zen
(4) Do S

Ad 5552 1DS S0WOR L& 08 ST
&oege5 O30Sy 325-295 DO AriyeHod -

-
e % | 4 eo| e o *
. o
.....
E
°
e ®
.
. o

& oSt A8 (I HBa 1) tHEye OB
PR T)eo8 ?

SHHS DS FED AITrhod) IBS

DRV, JoEod ;
(1) 138

(2) 1 eS8

(3) 1005 11 Bodky
(4) 138 11 s



GS/1G/101

31.

32,

There are 6 tasks and 6 people. Task 1 cannol
be assigned either to person 1 or to person 2;
task 2 must be assigned to either person 3 or
person 4. Every person is 1o be assigned one
task. In how many ways can the assignment
be done ?

(1) 144
(2) 180
(3) 192
(4) 360

In a row of 40 girls, when Ankitha was shifted
to her left by four places, her number from the
left end of the row becomes 10. What was the
number of Kanchana from the right end of the
row if Kanchana was three places to the right
of Ankitha's original position ? "

(1)
(2)
(3)

(4)

24

25
22
23

33. Vaccination drive for Covid-19 is carried out in

a village of 1000 people. The first person that
comes for vaccination is placed in Group A, the
next two in Group B, the next 3 in Group C,
the next 4 in Group D, and the next 5 in
Group E. After the 5% member of Grm;p E, the
pallern repeats, starting from 1 member in

Group A and so un. The lagy heneficiary to he
vaceinated helongs W

(1) Group A
(2)  Group g
(3)  Groupp
(4)  Groupy)

{14)

31.

32.

33,

B

6 D HOAW 6 DO HgEven S5 .
DA 1 558 18 Do H58 28 Teromosardsy,;
DA 2 SHN0™ 3 5588 B 4 5588
Seronodamd. (D8 588 2% 533
Beronoird. BPODOL ) Sstenm

DS ?
(1) 144
(2) 180
(3) 192
(4) 360

40 0O @IV SHIS, ©08SD
TN DL IBHIHE B8R,
SERS DB DY Hod e oy 10
©5808, @oid ®den Fas HABHS
FO5S JrGS OENS God), SHD Hd

DSE HOA STOBD DOP§ D0 ?
1) 24
(2) 256
(3) 22
(4) 23

0519 €00 5838 (B 1000 0B
Brver Gy (oS AOFTODRRR0B.
de €50 33 OB B 1D S,
SKD0 BBS R RS, SN0 3 Hod
(05 O, $cond 4 HOBJ U DS’

Sock SEso § WoBd @D ES
Soiyerds, savdo B S5 58 3O
SO, S0 ;’aﬁo’bgé&@é)oa.
SSs  48%, 1 @ S8
InBdoyS0s, O 30&.)?)&‘5 =
O & e BOASTED

(1) POV A

(2) 2B

3) yoacC

4) (oD
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4.

36. The ratio of jobs dun¢ by 30 girls to the o)

Ramesh said to his daughter, “T am four times
as old as you now. Five years from now, I will
be thrice as old as you.” His daughter asked
him, “Ten years from now, how many Llimes

my age would you be ”

What would Ramesh’s answer be ?

(1) 2times
(2) 1-5times
(3) 2:5times

(4) None of the above

In a badminton tournament between schools A
and B, school A won 50% of the matches
played in the first three weeks. At the end of
the toumame;xt, its success rate was 75%. If 6
matches were played in the first three weeks
and school A won all its matches played after
that, how many matches did the tournament
have ? |

(1) 16

(2) B8

(3) 156

(4) 12

done by 25 boys, in the¢ Same time¢ perigg j
5:6. If 9 girls and 10 boys can finish a jg, 5,
40/13 days, then how many girls are Fequired
to complete the job in 6 Bare

(1) 16
(2) 18
(3) 12

({15)

35.

36,

(4) 14

34'

SHD B FrHdS, ‘T SoHXu) @
DEoT T et BEY AHS. DTE ST ges
SO0 AEOTY ¢ BEY S0tNod.” s
£0:5°0 @& @hod, “ad)ed Lok ST
Sorged, o8 0NN D)), TEY Gotnod ™

Sag DO DFETH0 TaNeFsd ?
1 2%

2) 15

(3) 25

4) HBS OB

A NOABH B, ST D05 2808
25008 SB)DHoES TndE  Hrdd
TS 8GS SrsSos’ A 50% OB
S8y D0dS SNA0HS’, T Jazaho Béw
75%. BNSE Sorcd o 6 SriSen ed,
8. 3075 8 ©) drpSod apd A

AOR, ) R0e5S’ I S5eSen 28Mmon?
(1) 16

(2) 8
(3) 15
(4) 12

28 davohoss 30 208 WATOVEN TR
OO DA 25 ZH0d WHoney o
SEITO JBID 5:6. 9 HoA ®307 00
?:);SO‘.’:)JVIO SVOA War)oWeN 2,8 HAD 40/13

= Ve TaAHIONS. 6 S adiio

IC Tohadd Jos NH0O @S 0nen
WIQG0 7

(1) 16

2) 18

8) 12

M) 14
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37. In a community of 1756 persons, 40 read The

Hindu, 50 read The Indian Express. What is
the range of people reading both the papers ?

(1) 125 and 135

(2) 40and 85

(3) 25and 85

(4) 25and 40

38, There are two different ways of going from

city A to city B. There are 3 different ways of
going from city B to city C. There are two
different ways of going from city C that are
not passing through city B.

How many different ways of going from city A
to city C are there ?

(1) 6

(2) 8

@) 10

(4) 12

38. Meher purchases 3 apples, 7 bananas and
1 lemon for ¢ 285. Rohan buys 4 apples,

6 bananas and 1 lemon for ¥ 245, How much

does Harish pay if he buys 1 apple,
11 bananag and 1 lemon ?

(1)
(2)

2 345
€ 365

(3) %3y

(4) %375

(16)

B
87, 175 0O SO JoNoS, 40 Hod &

ooy, 50 20O JOAMDS 1D
SHEd. Dot DI® BEF >0 H66

20eh ?

(1) 125 00 135
(2) 40 B0 85
(3) 25 08akw 85
(4) 250005 40

38, SK%0 A Hod B éﬁo‘&}§ JIP8 Bock

3855 Srgren &) on. G0 B &od e
C& ITAE 3 DJ) Argren GaoW.
SHG0 C 08 IF)EE Todd J0s%

Srgren Garyon, ®d Sfdo B thom
SRS

28 A 08 28 C S8% ) DS
APFPe Gy on ?

D 6

2) 8

(3) 10

@) 12

30, Tl 3 ciydSy 7 SOSHOR SO

1 Qschsy ¢ 285 Fotrdd. O

1 doysiasn ¢ 245 Sotrdy. 1 airad,
11 88350, 1 73025°00 oty TOR 0S
BOJew ?

(1) 2345

(2) ¢ 365

(3) %385

4) =375
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40. The Compound interest on a certain sum for

41,

B

9 years is ¥ 1,512 and Simple interest is
z 1,440. If the sum is invested such that the
Simple interest is ¥ 2,592 and the number of
ars is equal to the rate of interest per

e
innum. then find the rate ?
(1) 5%
(2) 6%
3y 7%
(4) 8%

You are an officer-in-charge for providing food
lone affected

facilities to the survivors of a ¢yc
area. Despite your best possible efforts, people

level allegations against you that you are
making money out of the funds sanctioned for

relief. You would .-
(1) Stop providing the food facilities

matter is resolved
iry be set up

till the

Let an engu to look into the

matter

(2)

genior t0 appoint some

Request YOUT
ur place

other person in y0
the allegations
some work in Grama
As a citizen, YU havehave submitted an
Sachivalayam an e The official there
and without directly
, feelers for a bribe, You
done. You would ...

(3)

(4) Ignore

application for
calls you reped
asking you, sends
want to get YOUT work Jaint
(1) Sendafom’al ooty

(2)
(3)

ou

ot have not understood
y ursuc your npplication

. 10 the higher officials

(17)
40, 2 HOSSITO

41.

42.

I
(4) d ask for help

A0 B0z VS0
1,512 HNOOH FrdR S
¢ 1440, @O SG 7259 by
H0S$)0° RODS H05S)TRE $G Bensd

% 450, &52) DN & NSob 7

(1) 5%
(2) 6%
(3) 7%
4) 8%

i S DS oo &od
2050508 es5*0 AT O
wod03Ed8 2.8 ad TR ©oF0. D&
SSHBS POvEIer DRSH)EBE, D
asinso §h0 SHozrd TS DO
$08 Bm) HOTEODTYOD 1HBED N
553850 esdHme) T, D ...

(1) & DA0HO JHBNRB0BDT SEB @I
o0 ©oB0BE0 8T

& DAY H0I0oSEIS

) ?‘éoé‘ T 558 AAHAOIDD
D HAHBD @250

(4) STHRO0H DD

2,8 ﬂ&én‘@'&vé’)n‘, AT
HDTOMROS’ Foss 33 don 3805w
S%0 25 SRR VBT, e
@S0 DO) JHTHT eyt .,;5:9 =
3d:rv' VAN, ©0S0 v P
HoHTI®. D&y &, s

FavohS'Todtio S gb)&)&) 58
e\

(S15) S0 T

(2)

(3)

([Te0
O

(1) @O Doy »
D

(2) ©O0B0 R Ot

& - @

B320D  Hidam Qc;h Tos'senr
(4) i:tsg é{bﬁoa i X

QO :)O‘Sd) ® e
e E RIS "6&3‘3&8;&;?,&
N0
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. 43, HNIFIME IO DTASIS  |roErdd
sible to procure =

43. You have been made responsible SHTrROTOIS Deds NGO S50

HoHo & NEOSEIE Do arddis

). JBPoThen DES)  S6S

medical items at a short notice to be used for
an area affected by a pandemic. On finding the

price mentioned by the suppliers, you found £S5 &, S5 IHE 38005 &8

that the lowest price quoted is approximately (H20es 503 GIrO0SHBS Bey Lo

five times more than the approved rate of the O3PS D0 B HS @ &

Government, You would ... & o) 0. Y ...

(1)  Accept the lowest price (1) ©8 S350 éétﬁb oSBT

(2) Reject the quotes and call for fresh (2) 3‘653 ‘é) ?6‘0&6@’& 0OCy &
quotes §¢5) §00o ey

(3) & AoOTN) e adsdHodu
SOOHABD), D T
(4) BIS) B TANEO G50 @ I

(3) TRefer the matter to the higher
authorities and wait

(4) Threaten the medical suppliers about a J[BATHO& BOOITS
possible cancellation of the license 44. % g)Qé 00 & DOSTFONS (rEHY
DL, @EAmEm, b 28
44, You are handling a time-bound project. IDITFTRE HEAETI. 0 D @RS Ao
Suddenly, you meet with an accident. Your DAY 8 ToireR dPLRSHTYD.
immediate superior insists that you complete S ..
the task. You would ... (1) D& Fendd 8% A5 Ardorr
(1) Stay away from work till you recover. GOErS. pe
(2) Sugygest an alternate person to your (@) @‘2&})1 D sarowiio i e
; , 5582 &) &SOO8 Srd .
superior who can handle the project. (3) @‘8§ < < RS 58 oo S &
(3) Inform your superior of your inability to ©HNSS HEOD S GO o508
finish the project on time. BOCHTIE. :
(4). Request for an extension of deadline. @) K a-;)g& FAhoD FHo @258
45.  You have differences of opinion regarding the|4s, &, L?o@&‘d) iSO Srrofods (2%
project report prepared by your subordinate. B c’ﬁO&)ObOD g Dam)Praired
| The report, has to be submitted immediately. Gy on, (28 AP Soera DeNdYOTD
\ The subordinate is justifying the information %08, JIOES ad)S  DIFTO
" given in the report. You would ... Soaon wdHsd 5N 2. D ...
"" 1) Tell him to reconsider the results 1)  POerercd @2:;’)0?@0!58539 &% (fod
| (2) Convipee ; ; 0O 68 T ¥
' e ce the subordinate that he is ©) &Q@o& B8 A &) O O3
l“‘.| (3) Svl::ate and correct the report on your () g%)%d; SO 5B & SABE80D,
. @) Wam ghe subordinate not to justify the &Oa@w&@o‘&))_ £58055GR

a 4 v o ;ﬂ)
\ NCorrect information @ S5 &
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46.

48.

|2 b &

nu;r;pmnrgr an.e 2-digit consecutive odd
TS, 59 is the mean of the first five

such numbers, the i
: TE, then what is the
the nine numbers ? e LRl

(1) 73

(2) G3
13) 65
(4 &1

Latha went to the market to buy some
vegetables. While leaving her house she
checked her wallet and got to know that she
had some hundred-rupee notes and some
twenty-rupee notes. After shopping she had
the same number of hundred-rupee notes as
she originally had twenty-rupee notes and the
same number of twenty-rupee notes as she
originally had hundred-rupee notes. If the
remaining money was one-third of what she
initially had while stepping out of her house,
find the initial ratio of the number of
hundred-rupee notes and twenty-rupee notes.

=1

(1)
(2)
(3)
(4)

-
"

00 =
= 00 3

In & class, Raghu got the 1 1t rank and he was

315t from the bottom of the list of boys passed.

Three boys did not take the examinatlion and
one failed. What 18 the total strength of the

class 7

(1) 45
(2) 46
(3) 35
(4) 42

1G6.

47.

S0 Botk-wodie SHO B r‘?’O&JS@
Garyon, @erodd [udes DD OIS
BRen 59 esond, [wso SO JOWFS
AN DO ?

(1) 73
(2) 63
(3) 66
(4) 61

@ TRy Sromonen T8 S8 3B
8 308, e w8 Hod
HENTBLH I B H) SID DAL,
G SO 308 Srdrades St B §R)
RS SHErOHO SEY Sy oHld BOVOD.
Aol TS Sorss wa IO @dew ROGS
Erraise SN @ad) Ty S0t Srarche) SEY
5rc ario). 80 e DL ede
Sod Hrohe SN SNV WS
Grarche S et oo, WADDS
g2 & 203 oS 2ONE3E ST D )38
B3 SO Gd) IS Jrdody € Sod
o, S0 Srarche SR oy 2SS
Sraraber S Joms g G0

DAIBA ERS0E.
i) V=1
(2) 437
(3 1:8
(4) 8:1

48, 2§ SoHRS, S 115 ovgos o

SO0 @S SBYS BBONDS waryomes
Ero®) CR0.aA0PED @ yomew H8% o Tess

2,880 Do oD EED.SSHA Sndo Soie
QO ? :
(1) 456

(2) 46

(3) 35

(4) 42
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49.

50.

51.

124 chocolates swere left when t.hc total
chocolates in & box were divided equally
among 403 students. How many chocolates
would remain if the chocolates from the same
distributed

box are equally

31 students ?

among

(1) 0
2 5
(3) 124
(4) 23

A shopkeeper has three cloth pieces of lengths
7m, 3 m 85 cm and 12 m 95 em respectively.
He measures each of the three cloth pieces
with a rod at his disposal and finds that the
length of each cloth piece is an integral

multiple of the length of the rod. What can be
the maximum length of the rod ?

(1) 1m

(2) 25cm
(3) 35¢m
(4) 42c¢m

100 students were to participate in school
games. 60 students participated in game 1,
while 50 students participated in game 2.
10 students did not come on Lime, s0 they were
disqualified. How many students participated
in only one of the games ?

1)y 20
(2) 40
(3 70

4) 30

(20)

51, S ASS

B

49, 28 DHSV IS0 IS 403 S04

AT IROE DSTSOMT oo 124 3ty
Mierow. ©F PRSI TEODH 31 Hob

DDV AATI0M HoDS D) B
aNHENTT oY ?

(1) 0
2 5
(3) 124
4) 23

2.8 SR SBHAT T N, 3 o
85 0.2 005D 12 2 95 0. &Y fie
A0 (D Ao O Gar) . @S
S8 3O &d) °bS Hrd Ao
DRV Tenalch HOAW (DS S[R0O
3BEy sy ooh TITY &ried QIS B
Hedo © EHhFotrd. oob [ugy 6
SrCiad 0ed 525eh) ?

1) 1

(2) 2530.2
(3) 3530.20
(4) 420.20

100 o8 Jovden
D08, fov 1 & 60 0D g,
s 2 & 50 0O Aorden FJ oo
10 08 Jory@e» Jsro0d’ O EDSB0S
OB wIYS S HB08. 28 (1SS
MBS Do S0 Aorsden PP & ?
(1) 20

(2) 40

@) 70
(4) 30
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In a rural market there are two types of
vendors, X and Y. 70 percent of the vendors
are X, and 60% of the X earn ¥ 50,000 or more

tal number of vendors who earn

in a month. To
ral

# 50,000 or more per month in the ru

market is 48 percent of the total vendors.

What percentage of Y carn less than
7 50,000 ?

(1) 18%
2) 80%
(38) 20%
(4) 24%
) Select the missing aumbers from the” given
alternatives.
__—-}_.——"“1
11
17 1;2‘_
?
47 | 43 L Y
4 |5]1°°
(1) 55
(2) 49
(3) 53
(4) 46
eg from 100 to 10,000
A - m (’ra ' ’
5. If we listed all nu,,uld (he digit 5 be printed ?
how many times ¥
(1) 3980
(2) 3700
(3) 3840

(4) 378

(21)

53.

52.

1(2)

64.

B

2,& (e Sr0y3S Both S5 DFen
s0erd X S0 Y. 70 T$0 DFsen X,
$H8050 60% X 28 S 7 50,000 S oS

£0Ty &S HOFETE. (TED 5706
Seso T 50,000 Bo @050 DB
SorHos Do FSO DODS 3o
NESeS’ 48 TS0. T 50,000 L0 580y

, K)ow&@m Y dogd 350 ?

18%
80%
20%
24%

(1)

(3)
(4)

25 5B (DT 53 OO Q0EG )00
50D DOHEOG.

17 |12 | 11
47| 43 | ?
4 | b 6

55
49

53
46

(1)
(2)
(3)
(4)

o o) 100 OB 10,000 355 vy
Homsod 3D IR, woy 5 03,)_:&6?
&i»@oém@é)oé? &

3980
3700
3840
478

(1)
(2)
(1)
(1)
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535.

56,

a7.

A businessman wants to make some profit by
selling a certain item. He thinks aboul several

methods to make profit. Which of the following
would maximize his profit ?

I Sell that item at 10% profit,

II. Use an incorrect weight which is

100 grams less than 1 kg, but is marked
as 1 kg.

Mix 10% impurities in that item and sel]
that item at cost price.

111

Increase the price by 5%, and use an
incorrect weight whose real value is 5%
less than what is marked on it,

Select the answer using correct code.

(1)  IVonly
(2)  Tonly
(3)  Ilonly
(4) 11T only

Find the wrong term in the given series,

7,12, 40, 229, 1742, 17390, 208608
Q) 7

(2) 12
(3) 40
4) 1742

Excluding sloppages, the speed of a bus is

84 kmph ang including stoppages, it is

70 kmph, For how many minutes does the bus
BLop per hoyr 9

1 10 minutes

(2) 8 Mminutes

(3) 15 minues

(4)

(22)

hb.

12 Minutes

56.

57.

B
28 roRes 2% N [0X S S VN
D|Sowotddo o sor Soeh 230

POTONI0ETED .@eh &) 20 oS8
OIS QS KHBoD aSOV . Lol
TS’ IO @S T2, WO 2

L @309 10% erghos @208,

IL 1 85 %% 100 \rswey 80,5
@0%, 1 85 HBoHAS D85
20PN GDWrACHOE.

OL e 30HS" 10 Sdzrerssy 5O
DO e NISVNINS DRY  AS5%
MEleWelnTolal

1V.

GO 5% 0D 65D TR Dewes
2 DCoBES & 0% 5% S50y
G, D05 2809 FATrAoN0A.

008 TEY  an@rfcd

SEV S Y
DOE0A.

(1) IV &red

2) T3meD

@) IIaress

4) I S

AD )N VEVS® $H) D) SQOFS0A .
7,12, 40, 299, 1742, 17390, 208608

(1) 7

(2) 12
@) 40
4) 1742

Q‘%gﬂtﬁ) &éﬁowoa. 2, Jio 84 8.2
DB Jriyswd SOD, /G 70 § 5 259
floexso DRy Hruarew BHSE 2

(1) 10 Qoyarew

(2) 8 dyyrew

@§) 15 a1

(4) 12 RalySyrer
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58 Consider the follow

9.

ing pattern of numbers :
o+4+6=14

12+ 7+3=22

17+5+8=18

9+ T7+1=#

Which number will come in place of the # 7

(n 17

(@2 16
@ 10
(4) 11

A child made a big cube by joining 64 smaller
red cubes. He then painted the faces of the big
cube in yellow colour, except one face. His
teacher came and dismantled all the cubes
and asked him to count the number of cubes
whose two faces are yellow. If the child
answered correctly, then how many cubes did
he count ?

(1) 4
(2) 16 ,
(3) 20

4) 8

In a school sports competition, 40% students
participated in shooting, 35% students
participated in wrestling, 32% students
participated in  boxing, 9%  students
participated in shooting and wrestling, 119
students participated in boxing and wrestling,
8% students participﬂmd in shooting and
boxing and 5% students participated in all the
three sports. If 64 students did not participate
in any sport, then find the total number of
students in the school.

(1) 450

(2) 350

(3) 500

(4) 400

58. 1808 DowEed Sy DOHBoSos -

2+4+6=14
12+7+3=22
17+5+8=18
Q+T+1=#

# TS0’ &) DOBS HNOE ?

(1) 17

(2) 16

(3) 10

(4) 11

69.

60.

24 Doy 64 JO8 AS) Sridod
g0Hcho & J0° 28 E5r55 D SHairdy TEw.
g9chS) s SODO ST DY Srid
S0FFOR DNY BoHSE’ VB0, WS
B3850e9 D), @) ErsSerd DB, Bodk
Swgren HDH SoHS &S I
JoWID BFPOWNAN @AM,  DRTR
JO DTS00 ADIIL0NS, 85D D))

HorgS el BFPpoTdd ?
(1) 4

(2) 16

(3) 20 .

(4) 8

T (S eSS, 40% Dorgthen AreSoR
S P, 35% H0O ey 32Ok
S T, 32% H08 AT §en 23808
S IFT®, 9% ITDen  ArSos
D8 BBORS' JFT W, 1% SHod
AsHen  28y0F  HOBD  BRoKS
DD, 8% Joriden Jre3oh aﬁ‘)‘boin
28)00S° B B 5% Dergoen
Sk B80S’ TR, 6y SH0S
AP G $ooS  FSxses

oL ASTO) A0S0 Do &
BSOS, PO Joggs
(1) 450

(2) 350

(3) 800

() ~l00.
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Part B (1)
Science and Technology
g1. Consider the following statements regarding

62.

.(3) 1only

the Indian Renewable Energy Development
Agency Limited (IREDA) :

[ It is a Navratna Enterprise  of
Government of India.

1. Tt aims to give financial support to
schemes for generating eclectricity
through new and renewable sources and

conserving energy through energy
efficiency.

. It works directly - under the
administrative control of the Ministry of
New and Renewable Energy (MNRE).

Which of the statements given above is/are
correct ?

(1) TIonly
(2) 1IandIIlonly ~

(4) I,11andIII

The Renewables Integration in India 2021

report was launched by which of the following
institutions ?

(1) NITI Aayog and International Energy
Agency

(2)  Ministry of New and Renewable Energy

and Ministry of Environment, Forest

and Climate Change

(3)  International  Solar  Alliunce  and
Minigtry of Environment, Forest and
Climate Change

(4)  Ministry of Power

61.

62.

a0 B (1)
28) 438050 Base) e

20500 BarsdenS AN BIODROEH
a5y Ovwd JREDA) & Ho0H0D Sod

|9EE5O HORKEIOB 0 ¢
L ab s |H2HE 8 TodS SH0S)
HOY.

[ 5 005 HIHT YO8 HSD® 50
D58 Cueh )B TADEVS DA 38
0950 T 50° 38R e TR DOSON
688 JHHFOHO WOHOTIGO A @ 0.

L 26 DD @D &y ©od BIrssnS
D58 (MNRE) ©&85 oS
80 TFEM™ HATWOD.

2O BN wSDoSod )
BBSB/IBED ?

(1) ISrsd

(2) 11805 TIT Sr(edad

(3) II'SPes
(4) 1,11 08cs» 111

O BaTgHensS) AWBOAD WS ROBAT

2021 DIOE 8200 FES D JoQ T

B*S0DovrBod ?

(1) DD &35k :nac;Tm 20OV ANS 58
RN

(2) §8 00 ISHEHRS  BROGS
DORSg TH N0 HoHORO
©hh oo TeHce Srede
0| e 3R _

(8) wodgHaw DY 5rddd SHoom
D086, @&Hd DO Frerd0e
5183 o DSS TR

@) Dy 201888 TR
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Consider

101

(25)

the following  statements with

refer i
erence to the enrichment of Uranium :

L pranium enrichment  refers  to
Increasing the percentage of U-238 (the
fissile isotope) through the process of
isotope separation.

Il

64.

Weapons-grade Uranium has to be

enriched to a maximum of 20 percent of
the fissile isotope.

Which of the statements given above is/are

‘correct ?
(1) Tonly
(2) Tlonly
(3) BothlIandll
(4) Neither I nor Il
With reference to Digital Embossing
Technology, consider  the  following
statements :
L.  Itisa printing technology that does not
. use chemicals, solvents and also emits
no pollutants.
II. Tt can be used 10 produce braille maps
: c
for the visually challenged.
M. 1t ; ntroduced in India recently by
. W;s Leobd] Atlas & Thematic Mapping
o a. tion (NATMO) functioning as
Olfg‘:;l;ahed office of the Department of
the c
Science & Technolo8Y"
Which of th st«awmc"w given above is/are
ch o e
Correct ?
) Tonly
) Tand 11 only
) 11 and 111 only
W Liiana

63.

B

2D0NH) S50 V0220500

SnBONO
(JolA) L::éeacbom »Bt%e30d0d ¢

b BS00RONO H0HS)0 IO DSFESS
: A TALAN PHEch 8T U-238 (DS

D) TR, PODET AT RO

I samgolie  wOR%o gj?;i
ofsns’ fogor 20 TEO
v. m dsOCS"a.

g DS homobed 96

HBIAOBID ?

(1) 1SrS

@ I SHS

(3) 1805 I1 B0y

@ 151 s

ABLS ordohl B8 JoWoHoW),

208 REDoT D édﬁsﬁoéoé :

I 230 OTOHI, (Sste) B
SRS SEFON B T[oHD
20e0f sty eres.

IL. .a; é)ée)g&é‘&)o SST8 o
DO Aoyeet:
a;’a&rﬁoé:t;:;‘?. d’@O@Oéa‘ag

. 2ad )Y OGS ¢
AT ev08 Es'zf:ioaayﬁo
SOTON) IS ety Sor
HIrBE S0k @Qﬁag < (N&Go&n
or o 2850 ATMO)
B3 DO280A, TEETos*

2 EDARNS 3

:6@«6&/:()@:6;) ? BOBoS e 58

(1) 15083 \

(2) Idasw 1t Sov| €535y

(3) 1T DO I Smeg5,

(4) 1,11 580% 1]
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65.

66.

With reference to ISRO’s upeoming mission

“Shukrayaan-1", consider the following

statements :

L. Shukrayaan 15 India's first mission to

Saturn to study the planet’s surface and
atmosphere,

I, The satellite is planned to be launched

onboard the GSLV Mk I rocket.

Which of the statements given above is/are
correct 7

(1)  Tonly

(2) IIonly

(3) BothIandll

(4)  None of the above

With reference to RFID Technology, consider

the following statements :

L Passive RFID tags are powered by an

internal circuit and utilize it to send
response to the reader,

Semi-passive RFID fags comprise an
internal circuit with power source but
rely on radio waves received from the
reader to Lransmit the regponse.

Active RFID tags acquire their power

from the readers’ incoming radio waves,

IV.  RFID Technology can scan a tag as long

45 it is within frequency range and it
does  pot

have any
limitations,

line-of-sight

Which of the statements given above are
Correct 7

(1)
(2)
(1)
(4)

L and 11 only
L1l and 1v only
Wang 1y only
Ul ang 1y only

( 26)

B

66, ISRO G3ng; O°H'CH WIS “HlScirS-1" &

HowoHOD), &
H02D00E
L BSoirs 4 (ro By, addseo

DOAD TS8R SlAT e WS
D@ 4D HDE AR TS

1808 D8I

Q8 I3 MAS,
I & SIS GSLV Mk 1T ogeSes
AIrfoSothdy S T A.
2 ad)d WEoSos Ha
BBIS/HBID ?
(1) I1S5messdh
(2) T Sredsdh

(3) 15H8c5 I Bodr
4) DIV

RFID ®syefd Jo20H00), 808 RS
DOBOD HOKBoB0A ;

L Q@ya% RFID  érshen 08
DG5S oot 380 Srodumow
NV aTe 10N BG6% DB )08S&
DODFAE 'R GITAOHZ0ETaw.

11,

DTS RFID erghien 13585 4538
®OSGS B §OA Goeran 5
DBJ)0BHD 1DTB0 TFAhIE 846
N0d woid) BARr SdoreD
B EDSBQW. '

I, 8oirRey RFID é&rghen dsve ad
E0R BAG Sdore NHod S 389
Sroveraw. .

IV, RFID meyod @850y 5068
B5)08 365 A S Tahried
20008y ool B-E-RE HOnSKeD
B, :

DI BOI8G 520805 D HBID ?

1) LU %aowm (AN

2) 1,111 ghecw 1Y Sred

B) 1 KBy 1V S

@) 1 &Kaaw IV S8
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Consider the following statements

1. Dark Reserve is a public or private land

with a  distinguished  nocturnal
environment and starry nights that has

been developed responsibly to prevent
light pollution.

I World’s 15! International Dark Sky

Reserve is Mont-Megantic, located in
Russia,

I11. The International Dark-Sky Association

(IDSA) is a EU-based non-profit
organisation that designates sites as
international dark sky places.

The Department of Science &
Technology (DST) has announced the
setting up of India’s 1% Dark-Sky
Reserve in Himachal Pradesh.

Which of the statements given above are
correct 7

(1) 1,11 and III only
(2) 1,11l and IV only
(3) IL III and IV only
(4) None of the above

Consider the following statements with

reference to Sampurnanand Telescope :

1. It is located at Aryabhatta Research
Institute of Observational
(ARIES), Ladakb-

II. It has completed 50 years of operations.,

III. It has been eansi"el)’ used for optical
observations of comets, star forming
regions and star clusters,

Which of the statements given above are

correct ?

(1)

(2)
(3)
(4)

Sciences

land I1 only

II and 111 only
1 and 1II only
All of the abovE

67.

68.

(E]

30H Lés‘éoéoé) »BHEBoOCs :

36 s08 SeNII)
. ggé',og?és@ ressEaindor
DI = orealded DIRFS ooy ed
SarGE@0 OO S o ol
KOS (HHS S B [ RaE . :
I (©5030S5R 1 50ST BN cs‘iggez,
BB GaxsS G moé—ﬁon:o :
Q0B @b @@‘;)533015
(IDSA) R EU-@r0&% ey o8, (1)
509, 70 REOD 50T &0
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B

69. Consider the following statements  with | gg,
reference to Dirty Bomb :

&8 erofty H020600 Bod (HELSeS
HdHeSotsob :

L 28 owOAcho Ho8 BATrero
DT, SO &) 2o, b o
VPOlETONE end) DEE0 DI

I It is a bomb that contains radioactive
material, such as uranium, which is
scattered through the air when its
conventional explosive detonates.

i It tes city-flatteni tomi R e
) ~ creates  city-flattening  atomic I 28 SHho =
explosion and less toxic waste. SHB05 a;gg mai? e;? K)f S0
III. Manufacturing dirty bombs is costlier DN = O]
_ than nuclear weapons. L @ergodngre 508 Sn08  2rones

Which of the statements given above are S50 B DBV

- 9 M *

mcorrest : 23 ADIN VE DSOS DD HBID S ?

(1) TandIl only (1) T80 IT Sr(esad

(2) IIandIIlonly (2) TI08050 IIT Sredad

(3) IandIIonly | (3) 1AM III Sv(edadd

(4) None of the above O

70. Consider the following statements with 70, N3RS0 Qo06H0D 1808 |DELSDD
reference to “Gaganyaan” : 20Medotiod :

1.  Gaganyaan is an Indian crewed orbital L HESErS o0 réach  Sred
spacecraft intended to be the formative WOSBE TS STOHEMo TS
gpacecraft of the Indian Human T 2e37¢5 25 @0S88 Jgr
Spaceflight Programme. ST0SDAD et ToW ’@233055

1. ISRO announced Vyommitra, a Male 5@ 88 s w0s08 J°8.
Robot who will accompany other L. 2ASS add S 555)”‘83))@)5 PO Ay
astronauts in the mission. &’)3‘) 5‘33)3@5 ©D i BSED aAf
I The erewed vehicle is planned to be DEBoN0d.
launched on ISRO’s GSLV Mk I1. | M. 2ypas IrdS FITTR) ISRO
V. Defence Research and Development Qg GSLY Mk ne L&’J&J‘ﬂoac‘"“b
Organisation (DRDO) will provide DerdE FabaR00.
Bupport  for critical human-centric = oK 5300
V. &8y 628 w0l QIO
Byfswms and technologics in  this S8FHAS (DRDO) & paASS' g
Mission, RENRE 2 B0
Which of the statements given above a RS Fo\ 350 .355:3:9 i
P 5 given are AOERE S &Qé)‘s@oa‘saq
) 1 and 11 only AE=TAN -fges;moebvé‘ D D
2 (1) 150805y 11 A0S
and 111 only
@) Nangy only @ T80 &"\)‘Léi;
3 &5
w1 and IV only 2" el IV ik

(4) 1 B a%y 1V 353'@5)
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71,

72.

Consider
reference to “Small satellite launch vehicle”

designed by ISRO :

L. It can place a 500 kg payload at a height
of 500 km in the Low Earth Orbit (LEQ).

1. It has two solid motor stages with a lift
off mass of 100 tonnes.

[II. It is shorter in length than the PSLV
and GSLV,

IV. Unlike the PSLV and GSLYV, it can be
assembled both vertically and
horizontally.

Which of the statements given above are

. correct 7

(1) L, I and I11.only

(2) L I and IV only

(3) 1L, IIandIV only

(4) All of the above

Consider the following statements with

reference to “Internation

L

1. It is the only

the following statements with

al Space Station” :

It is a multinational collaborative

ect between five participating space

NASA (USA), Roscosmos
(Europe), JAXA (Japan)

proj
agencies 1.€4
(Russia), ESA

and ISRO (India)-
active modular space

artificial satellite) in

station (habit,able :
the Low Earth Orbit (LEQ).

[1I. It has beep funcLiOnal since 1998,

1IV. The ownershipP and use of the space
atation are established by
imﬁergovermr)el'l"al treaties and
agreemenw. .

Which of the stﬂw"‘"nw given above are

correct 7

(1) 1,11 and 11T onl¥
(2) 1,111 and IV 001
(8) 11,111 and IV 021
(4) Al of the above

{29)

71.

72.

A EroBoDS ‘D) GBIy PO
Firdo”  HdodS 5od (DEEISOD
5H0K30506 ¢

[ 28 & o6 @8)85 (LEO)S 500 g8
e’ 500 &S DEED GODNO.

L 28 100 & OP 8D Srod o
A& Frerd S3ersr 8N 0.

1. 28 PSLV H8cin GSLV oty &)
580), 9 GOLNOR.

IV. PSLV X005 GSLV 38 5RO,
A denHm OO wdormr
HEHEOOTIHTDY.

28 DI 2eSDoSeS DD OPHA?

(1) I, 1T eo8ciw II R GES

(2) I,Htés@oﬁnxvméﬁa

(3) I, 11 oo IV S35

(4) RSN

“@oSTHOH ©oS0%. fo80" ArDSS

808 RSOSSN HBRB0504

L =6 o sy ©0S08 DB

Socds dIVFrBoH JFTO =28,
@dm, NASA (USA), Roscosmos (Oars),
ESA (0Sr8R), JAXA (23S SO

ISRO (2783STH0).

1 &8 08 LEO)S =8 D38
18053 Sy IR DAS (D
ALY A D|33°0).

. = 1998 508 H BYOO.

v, @0808 doldo T0E, ArASTS§0

X800 adndirio oS8 |1Hhed s
2, Hy0crey 080 20T 4o
Q90RO

25 ADID '7"96533065065‘ A TS 2

[, 11 o6 I Sr(ehad

[, 111 Sodasn IV S|,

11, I B0k IV S5

2SIV

(1)
(2)
(3)
(4)
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73.

74.

Which of the following Schemes/Programmes
are launched with the objective of reversing

India’s brain drain to brain gain ?

1. VAJRA Scheme -

II.  Ramanujan Fellowship Programme
III. INSPIRE Scheme
IV. ASEAN -India  Research Training

Fellowship Scheme

Select the correct answer from below .

(1) II and III only

(2) 1,11 and ITi only

(3) IandIIonly

(4) LII, I and IV

Indian Council for Medical Research (ICMR)

developed the strategic plan and Vision 2030
document based on the following :

L. Strengthen health research capacity in
the country

I, Leverage traditional medicine

111,

Well aligned with the National Health
Policy NHP-2017

Select the correct answer from bhelow :

(1) Nang I only

(2) " Tand 111 only

@) 1,11 and 111

(4)  None of the above

(30)

73.

74,

rdesT3¥0 A |1BowS (BonSS (Boyps
AonSr &r8) ©fsod8 goa TES' 4
DS N/ YESren @rdooseray 2

[. S d580

1L osras DERD |9 ms)
I, 2536 &5
IV,

ASEAN - 20805 86, B0k
S0 S

QS 0B HTS QTR DO -

(1) 115805 1T Srisadh

(2) I, I S0805m II Sriedadh

@) T8O II Soviedad

@) LTI I SH8asn IV

R0Q0DS TS HB AES 587 (ICMR)
S08 &8 wordor FrS)E (Herds
DO DS 2030 HER) ©DIHE
TROD :

L oS by D058 0T

2S5 50 TAdo
L 5858 Srodaod BHo 2
. &gy o8y w0 NHP e
SHT HHBPS0 BahGOO 5
S 0@ [P SETTTR e
(1) 11 Sopes 111 TS
@) 158k M1 SMSD
B) 1,11 e I
(4) DI e
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75.

76.

A jomt programme of DRDO and ISRO.
developed  highly potent  Anti-Satellite
Weapons (ASAT) under Mission Shakii.

L. ASAT is a missile-based system to
attack moving satellites,

II. India, using ASAT Missile, destroyed a
live satellite in Low Earth Orbil.
TII. ASAT missile is capable of shooting

down targets moving at a speed of 50 km
per second at an altitude as high as

2000 km.
Which of the statements regarding ASAT are

true ?

(1) IandIIonly
(2) TandIIIonly
(3) I, ITandII
(4) ITlandIl only

events has delayed the

: e following
Which of th Kudankulam Nuclear

3. e
commissionlog of th

Power Plant ?
of the USSR

sigis of 1991

tia
. India's econo™® "
. Scht)'

1. Disintegratio?

I11.
pr from below :

Select the correct an
(1) 1Ilonly

(2) Tonly

(31)

76.

I, I1 and i
I and 111 onl¥

(3)
(4)

75.

DRDO Bain ISRO Hodsns s6iSo,

pnS 48 808 wdsjods  FES0SS

ot TBBES IHS) (ASAT) @DBYQ

Dohabod.

[ ASAT ©@38& 3568 GO fom o)
FohED8 8568 w3 8ed S559.

[, 2rés@io ASAT S0 SHTrROD
SEopd  Ar  §55S Soendod)
EDH|HBR), TFS0 BROO.

ASAT 8563 2000 3 JIHNS" DED

I1I.
50 &5 oS Ecenedd) OO
Erd B oDRe.

ASATE 0208098 WESDofos’ D8

DOSD ?

(1) IX00w II Soriedad

(2) I8a5» I SresSad

(3) I, 1I O IIT

(4) 11 OA%L I Sovedad

808 TES’ d JoNOS IV HSosvvo
e DS ToSD  |IFdodosSosS
23050 238008 ?

1. USSR D810

1. 1991 33 6837 uvds HostSo

1L DO NSO O 50" AOANe

&S OB VBN AArGRN) dochsod :
11 S

[ Soedsdh

1, 11 SOy 111

(n
(2)
(3)

Gl) 1daodw 1T A
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77.

78.

(32)

: ining to | 77.
With reference to a mega project P‘?r‘“m"fﬁ %
Nuclear Fusion research that is being bm. 1
Southern France, Internationnl

Thermonuclear Experimental Reactor (ITER),
consider the following statements

I. T was designed to demonstrate the

scientific and technological feasibility of
fusion power for peaceful use.

Institute of Plasma Research (IPR),

Gandhinagar is the Nodal agency for the
project ITER,

ADITYA is a medium size Tokamak
fusion reactor installed at IPR,
Gandhinagar as part of ITER.

EU, India, China, Japan, South Korea, | !

Russia and US are the members of
ITER.

Which of the statements given above are
correct ?

(1) TandIlonly

(2) 1II and III only
(3) 1,1 and III only
(4) LIL Il and IV

V.

With reference to “Blockchain Technology”,

consider the following statements : 8.

1. It is & public ledger that everyone can
inspect, but no single user controls.

II.  The structure and design of blockchain
18 such that all the data in it are about
cryplocurrency only,

I11.

Applications  that depend op basic
features of blockehain can he developeg
without anybody’s permission.

Which of the statements given above 18/are
correcl ?

‘1’ I Unly
(21 langd 1) only
(3) 111 only

(4) Tand 111 only

B

v 8058 51 NOOLS
BBIASS BT .
igjyg% (ATER), &rsSohb Hrsas 86
40 28 DT FEY S8 TS
98052508 808 1DEEIN

48630508 -
[ wodcineg AN FHO YRS

556 O3 FT(NoH  SHBck
Foiald OIS IDSB0XE.
ArsroHODDB0D.

L 278 @D Farp 66 (IPR),
rodSHE |BS, ITER Bng) SBS
RN :

I @8$; ©JI& ITERS 2rfor modSKs
SR IPRS’ Do°)en ToHES DdAakho
P E'eIrE SriedS 80558,

IV.EU, 2résB@30, Bar, aarsS, &8

SO0Sr, 8arg LHBM US ITERS' Hz5
GFex

B9 208 S DoSOS DD BB ?

1) 15805 1T S

@) I 805 T Sl
@) LI S8050 I S
(4)

: LII, 11 598050 IV

TETS Beyod”E Hozodod 1Eod

DSOIO8 HOKBOSOS -

L' 28 58 .4 80 329 Sabie HDE
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L 288008 o308 9071890 S8k

ey N TRSN do ey

KEVEST 38 HoWOROIA Jres.
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79, In Indi -
Liver Tl;a 3D-Printed Cornea and 3D-Printed
SSue were developed respectively by

(1) Aravi
) Aravind Eye Hospital and Panacea

Biotec Ltd

(2) LJV. Prasad Eye Institute and Biocon
Limited

(3) LV. Prasad Eye Institute and
Pandorum Technologies

(4) Centre for Sight and SIRO Clinpharm

80, In the reduced or microgravity of Space, the
astronauts’ faces become red and bloated due
to the blood and cerebrogpinal fluid shifting

towards the head causing them to have round,
puffy faces and thinner legs. This phenomenon

is known as |
(1) Debye-Falkenhagen Effect

(9) De Hass-Van Alphen Effect

(3) Aharonov-Bohim Effect

(4) Charlie Browr Effect

oL Tdentify the i oct statement about the
: mmes in India.

State. " :

o 8 o-Governance project

(2) IG{A;:AN]:mpuw zed delivery of land
for the ¢ .
records 10 farmer® glaiisss

a0 is an Aadhaar-based

(3) Jeevan Fré hentjcation System for

pensioners: : on aimed at starting
() o.PRAGAT! ha ofive governance and

(33)

79.

81

B

aydéc’a‘éoe‘f 3D{H0BE FOY0F SO0
3DDOVG D36 SArg SO @30 A0

o 4o BOSRGFTOV
(1) ®600 D )00

2 TrBE OWDE
LV. s @ AR,
P TrsS VDR
@ LV. V0 @ 293,675 B0

Pandorum DSYOTR
21066 26 26 SOOI SIRO 5Qar0l

5805 HINAT

() arsed ndow

(4)
wosBL0 oY S BT E TS,
580 SO 2B (350 B19)
3% Srédo o9 St SmrR0e  S0EPED
AT @O0 HAo) G), WP
folcom B0 560 )T OYTW, &
04050 Q @0trd

(1) BB-TORIR [92F0

@) O FD-S eB)0 2270

O DA AN

(4) w0 TN (D0

oT808y @irde Hood

RSN ESLIAVAY %8008 ?

(1) DARPAN &30 Q089 $3Dd
Ao edod HGH§odEs
5008 DFR0WEAS BdRrioD 28
BRTR AHNO.

@ s o300 TS BhodH I
aethe Sorsdd BOSH &ao
-f50)8) .

@) £3589 ©T0 293G 80 b
or0d 20TV oFodtas
AR,

n a-@:ma S-OES  58B)S)
5002080  @80Dodito %8k
sreod e o ol or
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82.

“Chectahs have heen rointrodu
Which of the following connectel
statement are correct ?

I

1.  Projeet Cheetah is the world's .ﬁl‘St
inter-continental Targe wild carmvore
translocation project.

M. Out of 8 Namibian wild Cheetahs
rointroduced into Kuno National Park,
5 are male and 8 are female.

IV. The Cheetahs indigenous to India that
went extinet, are African Cheetahs.

V.  Author of “The End of a Trail — The
Cheotah in India”™ is Divyabhanusinh,

(1t 1,11 and IV

(2) ILMNMandIV

(3) LMandV

4y LILIVandV

A fermentation process that uses ultrasound

to safely generate Xylitol from Sugarcane

bagasse is created by

(1) Indian Institute of Technology, Delhi

(2) Indian Institute of Sugarcane Research,
Lucknow

(3) Sugarcane Breeding Institute,
Coimbatore

(4) Indian Institute of Technology, Guwahati

ldentify  the incorrect - statement ghgyg

Hydrogen Fuel Cell Bus developed in India -

1 India's first indigenously developed
Hydrogen Fuel Cell Bus was developed
by Veera Vahana Company.

I, The fuel cell employed iy the
Hydrogen-powered  Bug  will  comlyy,
Hydrogen and Carbun dioxide o eregyq

electncity.

I, The effluent from the hydrogen-powcrud
Bus 16 water and heat instead of smokg.

(11 land 1)

(20 Hand 1l

(3 Tand 1l

(41 All of the abuve

ced in India.”
| to the above

. jon of
Cheetahs will help in the restoralion ¢
apen forest and grassiand system.

B2.

B
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5. Consider the following statements regarding

8

India’s Anti-Satellite Missile test :

1. The t.cst.. successfully destroyed a live
satellite in Low Earth Orbit.

1I. The test was done in the upper
atmosphere to cnsure that there is no

space debris,
[I. India is the fourth country in the world
to have this kind of missile system.

Which of the statements given above is/are

correct 7

(1) Tand 11 only
2) Ilonly

(3) Tand 111 only
(4) Iland 111 only

roved a proposal to
of facial recognition
the context of facial

pology consider the following

yog aPP

Automated Facial
Sysw’“ (NAFRS) is being
by (he National Informatics

the Ministry of

develope der
e
Centre, U"nd I,,furmation Technology.

erit of facial recognition
Jitation in identifying

I1. The biggeS‘_‘iw [in
not in photos

15 d
H n(f an
eal

gpis: @ven -ahove isfare

(35)

B5.
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arding
7. Consider the following olatements TCE

ExoMars :

P o
L. Its rover will be the first mission U

> v [
combine the capability 10 move Acros

the surface and to study Mars at depth.

1.  ExoMars is a joint programme of the

(ESA) and the

Russian Space Agency — Roscosmos.

European Space Agency

Which of the statements given above ig/are

correct 7

(1) Tonly

(2) IIonly

(3) BothIand1l
(4) Neither Inorll

Consider the following statements regarding
Fast Breeder Reactors :

1. Fast Breeder Reactors are designed tg

breed more fuel than they consume.

I1. In this reacwr, Plutonium-239 undergoes

fission w produce energy, while the

Uranium-238  present  in  the {yq)
transmutes w additional Plutonium-239

I Ttis a part of stage 1 of India’s Nuclegy
power programme,

Which of the statements given above is/
correct ? S

(1) Tonly

(2)  Tand 1l only

(3) 1l and 11T only

(4) 1,11 and U1

(36 )
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Consider the following statements about

International Nitrogen Initiative (INI) :

L

iL

It is set up under sponsorship of the
Scientific Committee on Problems of the
Environment (SCOPE) and United
Nations Programme
(UNEP).

Its key objective is to optimize nitrogen’s
in sustainable food

Environment

beneficial role

production.

Which of the statements given above is/are

correct 7

I only

11 only

Both I and I1
Neither I nor H

(1)
(2)
(3)
(4)

the following  statements
s 59 Naﬁonally Determined
ort Initiative for Asia

Consider
regarding
Contributions TransP
(NDCTIA) :

I It is an ASE

facilitate 2

AN initiative that aims to
paradigm shift to zero
; ort ACTOSS Asia.

emiss onent of the initiative is
The Indian °°m!:) y the Ministry of
Forest and Climate
grinership with  the
Boad Transport  and

II1.
implemenwd
Environmen
Change in
Ministry ¥
Highways:

Which of the 5t8*¢

correct 7

(1) lonly

(2) 1lonly

(3)

(4)

onts given above i8/are

(37)
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B
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#8005 806 (DELDIOD HOHEI0I0B

I 20 HOESS  QDOIOR TR0
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(HTPBSEE DS eIE
Faheso AR Sngg ©E50.
2385 PETARTS ":’9653)0650856 )
SBOA/B D ?
(1) ISSD
(2) I Sresad
@) 10805 II Bodds®
(4) 15°¢0 IS
IFHSD) A0S Soe3arsdn) (E7S)R
20038 HE  @dar  (NDCTIA) §
$H020H0D 808 RS DoSered
HoHeSoN0b

I. 20 80y ®@0ser QI asd
ey 28 SR Srd)ed
eSS0 TOHB0 ©F SO EPFS)
ASEAN 58,

L 28 2rds o & 8 S 805
SHrorde  DHOBSS TR HBGH
HO°S5080, OO DO rErSSes
S50y Soldss TR Wﬁ@g‘&ﬁ;;oé‘
e DohaeHod.

2 P LARDY ?96530050655

BBIEIDBIN ?

(1) 1 &ressd

(2) 11 Jyessd

(3) 108w 11 Sodr
(4) 185 I s

AT



91.

92.

(E]
(38)
GS/1G/10 a‘§ B (ii) 5
B (i) AN DAk
o : National And ¥B0& a308)) 8D basso , 5
Current Events of Regionnl, Na aomﬁ 3.:1‘%5 aoﬂ‘@ 3
International Imporiance S
v 02080

Which of the following statements are correct 91, D) NO5EH wrden 20228

with regard to Swachh Survekshan Awards 808 S DBHD A ?

2022 7 DTDH0 WOCHS DV ed Tend

7 L. . :

I, Visakhapatnam was awarded ‘Top 8o& ‘erD 2or§ 18THOE et
Impact Creator’ under Million Plus City FOBOB.
categor}’. v v — ) ) v,

Il Tirupati Municipal Corporation won the 1L &33‘013:)3&‘5 “)0655 D 33;3 gd)“%
first rank in ‘Safaimitra Suraksha AMAIO  SFIBAS I T30
Seher’, OO0 A.

II.  Salur was awarded for innovation and II. 50,000 vod ©F B &) e
best pract':ices undgr South zone1 for . £90 S S5565° DA G0 J8%
;x::faﬁ;\;th 90,000 to one lakh by WrRPOS ey o8y

IV. Pulivendula was awarded for innovation ?z)O{DO&‘
and best practices under South zone for V. 29Jomers 25,000 Sod 50,000
towns with 25,000 to 50,000 population. S0er SORS Lo s =S 8o

V. Vijayawada Municipal Corporation was WD Geaen N by
awarded a% cleanest capital, D2sarrerdy LB TeN) ODODOA.

i il,livanagc{, Vo Dachae  Stsarey 00D Hiesy

(3) Iand1I only TEEVT 0T Fodos,

(4) L 1IandII D 1L 1V 58080 v

Consider the following statements : - @) L1, 805y v

I Aundbra Pradesh Official Language| @) 1:558esy 11 S
(Amendment) Act, 2092 Bill was (4) I,.H 8 111
introduced in the Andhra Pradesh 99
Legislative Assembly on 23rd Mareh,| So& 9836580 DORBoN0A !

2022. I. QOLQ W, 65‘ Y v
003 BOSS 2PN (H%

1. Urdu language, as the second officiq) 2022 ¢ DD 23 &'i)'@')é ea)z‘?)?;g
language in all. the districts ofﬁl}ndhra BOISIHES BRSNS SF e,

- Adsdly same ko Turéa v, 26 iy IL, SO HBTSD O) 2SS Toad
2022, = =
(D) i . ¢

II.  Urdu language was already the second 20228. 0s (‘?‘;g)e)?c?; ;-JS‘\ 25 S,
official language in Nellore, Anuntnpur' I O y JO&.

Guntur, Chittoor and Kadapa of Uniteg ? &&'3)3(5 @OLQSL?)B-E S°D T,
Andhra Pradesh. V0G0, ot DS

Which of the above statements i/ure %’GO&) g0 : =TaLJPADY QH 33

incorrecy 7 %4 OGS w58 23T &od.

() Tonle = VOR0eers D& EYORE:

(2)  Monly ) L S5,

(3) 10 only t2’ Lty

3 S &5 30

Dy 11



55}161101
(39) B
; Match the following 1, ,
regard to Arjuna A 8 List I with List If with |93, estps @@ 90228 Howodod) Sob
e pesr 19 20D 18 00F© 00
Name of W el & HOefe 0
Sportsperson Discipline 8 NToAl] (5356 DD
a. SushilaDevi i, Shooting a, Hder T i are3oh
b. %ﬂﬁ;ﬁﬁh ii.  Weightlifting L g%”m i, BowSOgoh
. oS
c. Vikas Thakur iii. ParaBadminton . DeRuds il T AN

4 S5 ows v 3063 233 080m

d. Tarun Dhillon iv. DeafBadminton
2085 ©ds*d. V- 26

e. Jerlin Anikad. v. Judo =

(1) a-iii, b-iv, i, d-ii, e-v (1)  a-iii, b-iv, ¢-i, d-ii, e-v
(@)  a-iii, b-v, c-ii, d-i, e @) a-iii, b-v, e-ii, d-1, e-1v
3) a-v, b, c-i, d—iii, e—iv (3) a-v, b, c-i, d—iii, e-1v
(4) a-v, b-ii, c-iil, d-i, e-iv

(4) a-v, b, c—iii, d-1, e-1v
94, 0 & HBADS (PM-DevINE) §H0 (R0
¥ ?;T@mt:;ww"izv;?t;:::t;ii‘;’; t:: D96y BIoDHoS adAGHES HOO
: £ d 538 BESD0oS S 10504,

North East Region (PM-DevINE).
. It was announced in the Union Budget I~ &ady @odo NER)é‘ DIANRIA
9029 — 23 to address developmental gaps WOSTORN  HONBOBVEFAE G
.- the North Eastern Region (NER). SrAANS  2@S  2022-235
1L PM-DevINE is an addition to the 1D88oB2B00.
quantum of resources available for the 1. PM-DevINE @38 &8 &R0 B20HS
development ¢ of the North Eastern OPAINR(ALS ©OXZrenS &) SS&e
Region and will not be & substitute for AB37ETR8 S ®0F0 DO RO
existing Centr2 al and State Schemes. D0 &Sy Toid Hocky oA
1. It enables 1ivellh°°d activities for the HESOR (DS OO S,
th and women O Mot Fear . ad &wdy  1@od S°
you . ¢ 20505 oS
v F:x:jg;vm il Sl A ERE ?;ﬁromfzizv G
dy, in the spirit of PM Gati NOAQ.
convergen ¥y v. PM 8 38 3r)88' PM-DevINE &3O
iath:  s2rasrefd A HSETSHROS
(y Tmed s ) 1,11 8808 I :
@y, “LiEsmd Dy @ 1,11 S008IV
(oY, - DI aud Y (3) 11, 11 H8cs0 IV
(4) Allof the above (4) -bel ?6_5_«-63
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95.

Consider the following  statements, with
reference to ¢-RUP] -

1. It is a seamless one-time payment
mechanism.

IL 1t is powored by  NPCI (National
Payments Corporation of India),

L. 1t was developed with the support of
DFS (Department of Financial Services)
and NHA (National Health Authority).

V.

It was launched in the year 2020,

Which of the statements given above are
correct ?

(1) I, 1II and IV only
(2) I1,1T and III only
(3) 11, III and IV only
(4) All of the above

Consider the following statements with
respect to the “Satkosia Tiger Reserve” ;

I It is a Tiger Reserve located in Odisha,

II. It comprises two adjoining Sanctuaries
of Central Odisha, named the Satkosia
Gorge Sanctuary and the Debrigarh
Sanctuary.

It is located in the Eastern Ghats where
Mahanadi river flows through a deep

II1.

porge.
Which of the statements given above are

correct ?

(1)  Tand Il only

(2) 11andlll only
(3)  Tanpd 111 only
(4) 1,11 and 11

(40 )

95.

96.

B

e-RUPIE $H020H02) (808 VDo)
elolpilatnlol

I 20 @HPen B IS DS
NS 230.

II. 28 NPCI(RBASS oS s8YBAS
@D F0K0°) O 0° eS80,

Il. 2k DFS (&88 D> J2riio) SHSakhy
NHA (B335 37 w0eod) S s
@S DAHDAEOH.,

V. 282020 $0856 5068
lréodotadosd,

20 2DYS PSBoSerss® H7 B 2
(1) 1,11 8cm IV SUTERA

@) L1 50008 I Smes

(3) I M 808 TV AV R

@) D3y

L 2828w o8) 26 O

L 20 ows adersy 3
BRI JISHVAT
DBsn FHEG BB Seas0 508 ao a.

.30 d&rg) SSdoes =08, %
K AT OBE Wi
D8N 0s.

DS Ay HS oSS Ha DTS2 9

D 15805 1 @

Il SHaasw 11 (5D

1 S8k U1 a3y

oD KT

(2)
()

“) 1,11 gacs 11



(41) :

65/1G/101
97, “85)0 B JTTEINE" Ardsd (308

a7, Consider the following statements with

reference to the “Crimson Rose Butterfly” :

. It is categorised as 'Endangered’ as per
the IUCN Red Last.

I, It is most common in the Himalayan
regions, like Himachal Pradesh and
Uttarakhand.

(&S HONBOB0A :
. =6 IJUCN B& 99 D50
‘oS80S’ T 59500%ad0a.
I Srsrdd DE7 b &3Tpok
308 rirooh |rowod ad

Which of the statements given above is/are NE SR OR0.
correct ? N A DDoSos A
(1) Tlonly DBNA/ABD ?
(2) Ilonly (1) 13
(3) BothIandII @) TSRS .
(4) Neither I nor II (3) I80iw II Bodksr
(4) IBIlsdd
98. SHderossbol QEVE  S&o, 20028

Consider the following statements with

reference to the Prevention of Money

Laundering Act, 2002 :
I  The Act empowers authorities like the

Director to attach property believed to
be “proceeds of crime’.
II. Offences under Part A of the Schedule

© %025080D0 808 HEBS© HBHEI0S0E :

L “T8H oad” m rdod e @irs
BohaR8 BOEE NS08 edshof
980 ©HSE0 V0.

I N0 Torodh  ~o20800S
AErSSA F§ A o Sow

: s-border crimes and
j:;ct“:ht: d::i:ation to tackle money wIRG 0003 Sehlavy
laundering across the global boundaries. SHRAT0BO0RD DB 00TAS
III. The Act and the Rules notified 00552750 HSD0DROB.
thereunder came into force with effect 1L 5§0 0Oakn e8)cs S TAHAS
(rom 2005. AophSren 2005 HoBd BHenS'S
IV. The Act has provided for an Appellate HTIJOW.
Tribunal and special Court to conduct V. Sderoddoli IToo TS
o weaal o e OUenes -of mongy DE5rodEA8 @B (Bange
laundering. - B @é‘sg g o 580
Which of the statemen'® EY6N above are ®oHON0H.
correct? 20 20)d PEDoSOS’ D B 7
M 1,1 and 113 only (1) 1, 11 80k 1 Sresh
@) 1,11l and 1V onl¥ (2) 1, 1 SO IV S

() 11,111 and 1V onl¥
4) I 11, 11and1V

11, I 808w IV Sy(ehad
1, 11, 11 o okw IV

(3)
(4)
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99.

100.

Consider the following statements with

reference to Vande Bharat Express .

1. It is semi-high speed clectric multiple
unit train operated by Indian Railways.

. The fGrst Vande Bharat train was
manufactured by Integral Coach
Factory, Chennai.

1. Tt can achieve maximum speed of
250 kmph. reducing journey time,

V. It was previougly known as Train 18,
Which of the statements given above are
correct 7

(1) 1,11 and IIl only

(2) I, IIT and IV only

(3) I1,II and IV only

(4) II,IIl and IV only

Consider the following statements about
“Vikram-S" :
1. It is India’s first privately built rocket,

II. It is a single stage suborbital space
launch vehicle.

II. The mission for the rocket launch has
been named as “Prarambh”, meaning
beginning.

IV, It was developed by space tech slartup

Agnikul Cosmos.

Which of the statements given sboye are
correel

(1 LI and 1H only
20 11 and 1V only
(B0 10, 1 and 1V only
(@) All of the sbove

(A2)

99.

100:

B

508 2088 A5YDOH DowohHod 180d

¥ HBHEIO00 :

[ @8 680 Jdten E5rod
2037 D)8 D85 HDHSE 0Hres
oew.

1. 3t HS08 2rdd Tendd TIZS A
085S §S 386 Sairdd TOS.

L. 2 #00mr 250 kmph DBy
FHOUNOCD, (DA DO,
aliteVelal

V. 8D K808 Bew 18 @) DOT&.

R 20N REDoS S’ D BB ?
(D L II 805w I Sr|ehad

(2) I, I 8k IV A58

(3) T, I 80k IV Sr|edad

(4)  II, I 8050 IV Sriesah

ANV HBOD & 1800 |1DHELSO

20HBoSoA -

L 28 ré8d¥o @og SneEnses
LIS DO00S 0vBeS.

L 20 JoAS JE 05 w6)uS DD
S0l JrES.

Il o8 IDATRAE DODORODS AN
N Y>E028" WO 1800 @ Hth
Y.

V. O %0 B 0 oM HS s
©HHHQ BB,

DS AN )Y HEDoSOS" D 3BID 7

(11, 11 SHeaiw TS essh

(2) 1, 111 Zoo0omw IV (@3

(3) 11, 111 SO IV &3

M) 3b,y



46/101

| Consider the following statements about

eNational War Memorial” :
[t was inaugurated in 2021.

The eternal flame of Amar Jawan Jyoli
underneath India Gate was put out and
merged with another cternal flame at
the National War Memorial.

. It was built to commemorate all the
soldiers who have laid down their lives
in the various battles, wars, operations

and conflicts of Independent India.

V. The architecture of the memorial 1S
based on four concentric circles.

Which of the statements given above aré

correct 7

(1) I,MandIII only
2) L INlandIV only
(3 I, TlandIV only

(4) All of the above
the Prime Minister of India led

102. Recently,
eedom fighter Velu Nachiyar on

tributes to fr
tior 29904 birth anniversary:
velu Nachiyar, which

With reference to Rani :
ts is/are correct 7

of the following statemen

first queen to wage @ war

She was the -
= st India Company.,

agaiﬂst thc Eﬂ

-med an allisnce with Tipu Sultan

(43)

a i:;:i(:st the British in 1780,
gelect the correct answer asing the code given
pelow *
(1) 1 only
(2) 11 only
(3) Both { and 11
Neithcr { nor 11

vo(4)

101.

102.

B

FNSS b DIrdoHS” KB0DS (§os
SESO HBHBOS0S :
[ = 20218 |r80dotadod.

1. modosr N 808 &) @b 27s
S oo TSI o
eS3ohadod HBo VIS FE
JZrBoHS  SG  NTE TSI
208 DOB0 BOHROB.
2b DHidole 2rESTI0S R DG
oingren,  OMETeD, RO SVLSY
58050 HoNGROS SH (EEOD
980V 25000 A 155°Q0
B2050H00.
S53r8aHS Domeao Trenid SolBs)d
LT O &FidG G0N0,
25 RIS AEDoE S’ AD DB ?
(1) I,H&Goﬁ»mme‘_‘;»a)
@ 1, T 805 IV Sr{ea
3) 1L, I 0080 IV S ad
4) DI
alse,  wOS  BoN JiSolss
£ 5ETWND0N Jen TAATD 2925 2aH0S
AOGGHONM eI QL8 0.
ol Fen PO HooRoD), Sod
S35 DVIO DB ?

9 osaLT yhs
; z‘;i@'o S0 a»jg 22’0; @§5a6§°”‘

4 17808 9 oo

TR TA RO “a

zglbooojol )ao;:goa& :dnml"no.:) o
| 05D
11 SMedad

| éJOQiD Il @ 8 = A
| o 1l s*ew

IIL.

IV.

(1
(2)
(3
1)
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103. 12U2 is a new partnership between

(1
United States of America.

(2)
United States of America.

(44 )

Indonesia, India, United Kingdom and

lsrael, India, United Arab Emirates and

(3) Israel, India, United Kingdom and
United States of America.
(41 Indonesia, India, United Arab Emirates

and United States of America.

104,
Awardees from the following :
I.  Sotheara Chhim
II. Bernadette J. Madrid

ITI. Tan Soo Heong
IV. Gary Bencheghib
V. Tadashi Hattori
(1) LILIVandV
(2) LIOLIVandV
(3) LILINandIV
(4)  All of the above
105. Consider the following statements

Identify' the names of Ramon Magsaysay 2022

with

reference to Agriculture Orientation Index

(AOI):

I. It is published by The International

Food Policy Research Institute.

II. It measures the country's progress
towards SDG-2 (End hunger, achieve

HI. It is calculated as the percentage of the

food security and improved nulrition).

Government's expenditure on
agriculture, divided by the share of
agriculture in the GDP.
Which of the statements given ubove are
correet
(1)
(2)
(3)
(4)

land 11 only

Il and 111 only
land 111 only
All of the above

103,

104.

105.

12U2 5858 &) §'& 25z 5350

(1) ROATNOW, 20Adsy, angess ok
e DO KuFHE DSy ©H
®08".
ArOLD, WAKr, wFDHE @dS
Qa0 0k AuFDE S @D
OO,

RO, 0GP, ST LS ohitS
000D ANF WS 45y D s,
ROGTNOT, wosFo, SZDE
@32 ANV DB ST HE DES )
e 05,

808 8BS THS VD 2022 B

(2)

(3)

(4)

[Harse D88 HBodod :

[ RFEE Dadd

II, BoBE J. A6

I, &~y 2radroh

IV. b Zodhd

V. S dde

(1) I,IL IV 80w V

(2) 1,10, IV Hdcko V

(8) I, 11, 111 H8cM IV

@) DI

w|iEe B 58000VAS ROTS) (AODS

H020800 1806 NEoSerd

9 ""’%S; “”5 20002235 HE Fod
63553 SRt (PEN00D0R.

(63D wodo Tohod,
a0 AT Dheasss
A3 B30 Gy HENSD

L. =38 SDG-2
BHE PO
AOoHGO!

&' .

= oo DRSS Szabo

2 bsb?g&oaam@oé. GDPS®

o 9,&.,5‘ 2 NODDRK0H.

S v

LI

(1)
(2)
()
() RSV



(45 )

s116/101 -
owi statements 18 correct &% v ok g2 SRk St .

106. Whieh o lh‘-" rot mt‘l::gSnciew for Worldwide 106. 7 80 O)ég')? & @oalircy poRond
with reference 0 " o 2, DT ERS (SWIFTS Souna0D 508
[nterbank Financial Telecommunicalion I g o, 2 nHow S
éwm» . $HeTR0BOS DO HBOE?

[ SWIFT is A global member-owned 1. SWIFT woh IRT 0B  1DES
cooperative that is headquartered in corgeosrd) O &) A Hhoad
Switzerland. 52 S 0SR HIPsE HOY.

11 S“’IF’P was foundcd in 1991 II. SWIF’I‘ 19916‘ Q‘:)O!‘:SZ)&O&.

(1. SWIFTisa payment network. (L. SWIFT o B@ 0D D 5560

7 SWIFT has th thori i
n il 50 LIt 0 ARREOSES V. oo eofed aeod ®&SE0
sanctions on the banks.
SWIFTE &08.
Which of the statements given above are = 5
orrt 2 2D S ooSedS D HBOJ ?

(1) I, 11 06ckn 11 Sr|ehadd
(2) 11, III 8k IV Sr|eda
(3) 1, IIT 8050 TV Sovehad
4) DI 57

(1) 1. IIand I only
(2) 1,101 and IV only
(3) 1,I11andIV only
(4) None of the above

107. Consider the following statements with
reference to China’s Change & lunar probe :
the Chinese Moon

107. S BE Change 5 erard (8550

50250600 (808 DRI HOHeFoB50b

I. It is named after
L. A8 §§)K) OB W L.

goddess.
. . .. first attempt
I, It is China's ™ mpt at a I 7ohS-865) ASS B TAS
sample-return missiot: %
e (DS 0 D.

[11. It will be the frst probe to bring back
Moon, since NASA’g 1II. NASA Q308 e 24 WAm Sovges

material from the
Luna 24 mission: SO DG JETYVY  ABA
HHFSIT) DS 15 8.

ments given anbove are

«ch of the state :
Which of the § 2 RO VEDoSOS" DD HBID 2

correct ?
(1) 1800 1 NS

(1) landllonly
@) 1RO 11 S

(2) 1landll only
(3) 1 00CW 11 SMédad

(3) land 111 only

o TIesd it () 1,11 SH8aky Ml
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GS/1G/101 [ 46 )

- : SleTalolale W]
108. Consider the following statements with [10B. s$79)0R) ®a Q‘QU (COP278 & @)

reference to Conference of Parties (COP2T7) : 15od ?23531'0950‘& HBNEeSoB0 : =

. COP27 was held in Sharm el-Sheikh, [ COP2T &2NS'V a5 IS-ES
Egypt. 20008.

II.  COP27 reiterated the goal set by the [I. COP27. COP21 S8 0D 2x2)080
Paris Agreement at COP21 which was to o 5o NBFoBDAS O,
keep global warming from rising more @éd)g'ejoi)o&, 2Ad fja)é o000
than 1-5 degrees Celsius from the 2000s. 20000 0A 15 G|fiex N HoHR oty

L. The previous Conference of Partics D502 WO GoSdo.
(COP26) was held in Glasgow, Scotland., 111, &’)‘QO 0D H3r3Zdo (COP26)

IV.  COP27 rcached agreement to provide @‘2,@9‘0&6‘«3 e 28R08.
j:f:em:;‘e dc d:'fmg;:th ﬁ;“zi"gr f:r IV. COP27 &or&rdde Inbderie séomr
Al PPN RS DB BFoH “So  HOo

Which of the statements given above are o nd RO OGRS

correet 9 20 )0B0 HcHd Jod.

(1) 1, and 1] only 29BN PERoSoS’ D HTHD ?

(2) 1,111 and IV only (1) LI 805 1T Sr(edh

(3) 1L III and IV only (2) T, 11 80w IV Smedsh

(4) None of the above @) 11, I B0k TV S3esadh

109. Consider the following statements with @) DI s

reference to Mangrove Alliance for Climate | 199 OIS weo0HSy 56 SHES  MaC)E

(MAC) : NO2080D $od VS DoS %

L. The launch of Mangrove Alliance for D0NBosod -

Climate (MAC) is spearheaded by L 20835 PRI o508 BWIF AT
United Arab Emirates in partnership B0S8 IS Tesyes oSt
with Indonesia. oo 3 353‘0Lﬁs‘5

OO HE 330 (MAC
Il Australia, Japan, United States, L eRo 03'3‘ bt 05»353‘60253.
Canada, Sri Lanka and India are ' 7 SE wes),

members of MAC. ?éc;‘, &Jog N0 2rée8Eso MACSS
III. It was launched at the Conference of NZDe,

Parties (COP27) summit, I 38 'R0, 8D G’J‘Qo (COP27) ¢S
IV. It is an intergovernmental alliance with S rSododadod.

no binding targets. IV." 28 deod S eN B ®0S5 @?:Dés
Which of the statements given above are Sy,
e 23 A0 HED0SOS" 92 3853 »
g: ;, 1l and I;;on':_ly W 1y 55008 T Sy o

, III and IV only

(3) 1, 111 and IV only 20111 5080 1V Sr(e3s
(4)  None of the above @1, 11 $r5080 IV Sr(@s

4) I s
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110. Consider the 10w 3¢ E
reference to G2p SUI:“":G statements with 110, G20 3207 HArFTIE Hdowodod (50b
miat : ")
I. The two-d ; (DEESOD 5OHB0508
7 a ' »
Y G20 summit was held in I, Bocd g2re> G20 2075 HAT S0

111,

112,

II.  “Recover T
h ogether, Recover Stronger” is
i | e 1a’s G20 presidency.
' e tll"-th. One Family, One Future” is
! . ieme  for Indonesia’'s G20
presidency.
" t‘Data for Development” will be the
xg;egral part of overall theme of India’s
0 presidency.
Which of the statements given above are
correct ?
(1) 1and Ilonly
(2) 1andIIIonly
(3) landIV only
(4) IIand 111 only
Kiev city is located on which of the following
rivers 7
(1) Don
(2) Danube
(3) Dniester
(4) Dnieper
ing statements with
Consider the follow” ips Project :
reference to GloLitte” artﬂe"s}:;".s d ;T ct‘
. aiative of the nited Nalions
L Ttisan MY amme (UNEP).
Environme? Lduce marine litter,
II. It ams to o jitter from all the
especially plas
sources: . given above isfare
Which of t! statemc”t'
ich of the
correct ?
(1) TIonly
(2) IIonly
@) BothTand!

Bali, Indonesia in 2022

111.

11

(4) Neither 17"

112.

902265 o Z2H0S R 23S 260,

11 2r8e330 Swg) G20 @85 HADE
“XDR gfenfods, 2500

@é&@&oéo&" 03B BBIYS0.

Uy & 3R, 2.8 S0EN0D0, 2,% BDAER”
w36 mo8daclr G20 @sE NOVE
%0250B00 HaD.
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[ 58050 IT S|

I 8080 I S
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IV.
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113, Pick out the correct matches from the

114,

following statements regarding

externally-aided projects in Andhra Pradesh :

I, Andhra Pradesh Integrated Irrigation

and Agriculture Transformation Project
is aided by the World Bank.

Andhra Pradesh Community Managed

Natural Farming (APCNF) is aided by
Japan  International
Agency (JICA).

Andhra  Pradesh Irrigation and

Livelihood Improvement Project Phase-3
is aided by KfW — German Bank.

Co-operation

(1)
(2)
(3)
(4)

Only 1 is correct

Only IT and IT1 are correct
Only I and T1T are correct
Only II1 is correct

Which of the following statements are correct

regarding status of Andhra Pradesh
Agquaculture ?

I. 'YSR Matsyakara Bharosa’ - relief g

provided t marine fishermen families
during fishing ban period.

II. Andhra Pradesh Fisheries University ig to| .

be established in East Godavari Distriet.

111 The Diesel Oil Subsidy for fishermen boatg

1 associated with exemption of saleg tax
on HSD oil.

IV.The Government has
financial benefit to dece

(while fishing) family fro
¥ 10 lakhs,

Only 1, 11 and 111 are correct
Only I and 11 are correct
Only 111 and IV are correct
Only I, 111 and IV are correct

enhanced (}q
used fishermen
m % 6 lakhg

(1)
(2)
(3)
(4)

(48)
113, woSOET SR DT HFWoE  Erd

1‘14.

B

AP 00000 08 (HELS Hod
485 FOLD JoHE0R :

I

I1.

L.

(1)
(2)
(3)
(4)

8oONET OEHVE 20TAS ©od
iS0)0 P81  (PEDN,
(DNOL 2PF08 A0 @OB0D0H.

o WBE S5  ofrasrs;

(DEB R 2rS ©oSTHWH

DT ABR) DFAH0 BOBOD0E,
SOBIOBE OIS FSe B
BS0TD ©dSy® E§  (APILIP)

283 8 KW - 28 2508 orior
V090 ®OR0A.

LSS5 DTS
I 000D 1T Sr(edah DTS

ThBan 1T S8 5B
IIT 0833y HBIS

CORNBT wsg 5035 D8 DO20H0D
508 arpseyes NSO B 7

L

11,

1v,

(1)
(2)
(3)
(4

"

Do Fo G voos s
DS Hotnozredy B.0HD.eb.
NS NSG ST FHFSS0 EOI00B.
Sty Forsd s wos|nds
MFH RSB Doryew
Ty 8.
&éggsvdw DS A2S wond
DDA, HSD SH0ED LIS D)
DN N0

NGB0 NSO Hduoars
Bnen »® ODabod) (Hbes
@Y (HOV'BIRVY TH ofe Hod
T 10 @43 DOV0A.
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(16, Which of the followip
about g statements are correct

116.

Visakh
apatnam-Chennai  Industrial

Corridor Dev
evelopment Program (VCICDP) 7

I.

1L

111

V.

(1)
(2)
(3)
(4)

Which of the followin
about the Sea Ports in

Pradesh ?

1.

I,

I,

(1)
(2)
(3)
(4)

It is ’

2 ]P‘“'u) funded by loan from Asion
evelopment Bank (ADB)

It is i :

S aligned with the Golden

8Ouc:akt'l ateral and covers more than

m of the State of Andhra Pradesh’s
coastline,
development

It is a node-centric

platform comprising four nodes.
Donsakonda is recognized as one of the
nodes.

Only I and II are correct

Only 11 and 11 are correct

Only I, IT and [V are correct

Only I, HI and IV are correct

g statements are correct
the State of Andhra

recently declared

ort 85 8 Major Port.
g converted

GoAF has
Krishnapatna™
Kakinada SEZ
fi aptive PO

t::-m c]: I;wiss hallenge Approach.

¥ d Nakkapalli Port as a

GoAP has declar®

Port. is bein
10 commercial port

g developed on

Minor Port- G
is
Vodarev(u) Pori’ Operﬂw and Transfer
Build, wily
(BOOT) basis:
" correct

ar

Only I, 11l and I e correct

Only 11, 111 829
Only IT and 1 8fce correct
Only 11T and &

corrcct

115. améwlo-ﬁ'@l 208 NNE Bk
a:w‘moé (ST (VCICDP) HBoD &
a0t i3S B2SB SIS
[ =20 85007 as2asT @898 27108
(ADB) G820 500 DENED
(ﬁmg\y&@o&.

=0 s G5SEIEE 2OS0
“oSHeacheod <800 BOlOINEE
o2 80 SasS’ 800 8.0 2T D800
OO,

a1 2 & S5 o8 HTG, SO
ZolH%0S 9DHIE DSOS
@as'éoééo 220008.

v, Bs80ch 28 & ﬂ'.ﬁJQOS.')eJ&O&.

(1) 1080 I B3SO VDI

(2) I S8 I IS OB

@ L0 IV S5 QB RD

(4) 1,111 SHdoin TV S5 DD

116. oSBT TR0 L6BHe HBOD S0
HEHSS’ OBDSD DO ?

I eoBTi WS  ABIO

II.

I1I,

(1)
(2)
(3)
(4)

Syhdeno LBBHSH Dz=b Y o
S8 Y2 B08.

50 B0 HPB eso° SPETE R
5,889 s gne 2.650:) HOG i‘e;):'
3,640 S8 200D, :
SEDD  A0HD DIE 4.8
SBo|JDHTT 1D2DS 50 (HDEESo0DodH e
SB0y P Nf0080, 2&;3&0

Tots%0, O

' Ko etnteto!
207000 B0 (BOOT) 0805w
DRIBES ©DIYE OF
Davotiso 280od, AL

I, 11 0800 IV S5 $38
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B

117. BOQYIDBT (HS 0 & 808 TS 9
Dot  (HBE  2BS (2021 - 29)

117. Which of the following minorities have been
allotted special budget cover (2021 - 22) by

the Government of Andhra Pradesh ? BEronoBG0H.
(1) Qureshi (1) 200a
(2) Gosangi (2) AQof
(3) Borewale @) oS
(4) Dudekula @) SrEide

118. Which of the following statements are valid
regarding the initiatives taken by the Andhra

Pradesh Government in Women Development

118.

DT TDIYP HOAD D HoEH TS
BOIINTT 1D 0 THES sEESrerss
Q00HOD §08 [HELSS’ OSTSD O 2

L 10850 (DA %00 d5ssos
and Child Welfare Department ? Qrnd 220 DB WOKITA
I.  Government in collaboration with 680 AT NOFOANCAH.

PRATHAM organization is building the - i,
capacitites  of  supervisors  and © WEhég0 UK CATAPULT QoY
anganwadi workers. VoS J.oHR.sB. & DG
1. Government in collaboration with UK BB H dedven o DG
CATAPULT organization is extending [W0H.
support for funding the YSR Thalli Bidda | . h
ny::::ss UL Bohheb. 208 Fam a5
! DHO 77 NS B ABRS B
1. *YSR Sampoorna Poshana Plus + scheme %
, it WOodheren NIH* @Dy Hoders
provides nutritional support to pregnant % 5
women and lactating mothers in all the 063 LR DO F AT ) Senendy
mandals except the 77 Scheduled and A5G DPS ©OANOA.
Tribals sub-mandals, IV, 8860 ewdHAS IBRD od 50 F%e5 50
IV. Poshan Abhiyaan is implemented in the 2 HH0D0S oY oSt ®WAeyy
Btate by a 50% external aid from IBRD, B Soas a8
el DB
(1) Only I and 111 are correct (1) L Sy TIBSSE R VRN ]
(2} Only 11 is correct (2) 11 gy QPO
(3)  Only 1, 111 and IV are correct B) 1 qpp stew IV Sl 8D
(4)

Only I and IV are correct

(1)

I i 1V SNESS RES2
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o ‘
19, V:hw of the followmg statements regarding
the investments in Andhra Pradesh at World

ECO“.'OH:iC Forum (WEF) 2022 is incorrect ?
ArcelorMittal Nippon Steel (AMNS)

(1)
of

announced investment

# 1,000 crores to expand its pellet plant

an

capacity in Visakhapatnam.

Government of Andhra Pradesh signed

an MOU with Aurobindo Realty '&
re Private Limiteci for

(2)

Infrastructu

generating 6000 MW of Green Energy.

dhra Pradesh signed

Government of An
Group for

.n MOU with Greenko
oMW of Green Power.

(3)

generating 800

Government of Andb™® '
o ACE Urban Developers

2P mps and Compressor

.t at Mega
ySR Kadapa

(4)

Industrial

district-

of the following bird

hic? ;
es W ’l‘elmeelapuram*

120, In the recent tim 8

ortalit)’ (]EA) of Srikakulam

had mass ¥
pd

Important Bird

(4)

Pradesh signed

(51)

119, 69 JardE FOH  (WE) 20008
@90@@6&5‘- epatioR ool

§05. 8365 &) (D5 S 7

(1)

(2)

(3).

(4)

&5@1@35

@63062»@5 DI S (AMNS)
09808 =86 08 FDTFV)
%80T ¥ 1,000 ARAANELY

L&’)ééSo:Do&.'

g0 D B WD &3
2008 @dDod Basre) 0O
o) OIBES

soBOT (Gbdg0 MOU: H0dS0

Shol. 2 :
5000 Dorrartd S D0 &8 S0
La.sg%; SO OOFS Wehéso MOU
H0&80 BROB. ;

3.0.e0. 8a0 2 §a)8 @ e s

ity Sopub Sard” RS
DT)ED §‘:<)o. o3B3 e 50

ACE ©8)® B30H8)8 MOU Hossgo

o

3206.

120, 26530 5008 3I0¢0 B, 8DersyBo

SO X 2
: .?@ sg roso (IBAS 808 i3S’
558 K)‘v;jgyoa‘é A).dmﬁ; DALTROE 9
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(2)
(3)
(4)
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